
PARTS LIST

DESCRIPTIONPART NUMBERQTYITEM

Low Profile Offset Tube LH20-1031L11

Low Profile Offset Tube RH20-1031R12

Massey Ferguson 8700S Side Plate LH30-1417L13

Massey Ferguson 8700S Side Plate RH30-1417R14

Massey Ferguson 8700S Undertruss30-121015

Saddle Conversion Bolt Plate20-180226

1

1

2

2

A A

B B

BOLT LIST

QTY

DESCRIPTION PLACEMENT

8 20MM X 90 MM BOLTS BRACKETS TO TRACTOR

8 20 MM FLATWASHER

8

3/4 X 2 1/2 BOLTS

UNDERTRUSS TO SIDE PLATES

2 1 X 9 BOLTS TUBES TO SIDE PLATES

2

3/4 X 2 1/2 BOLTS

TUBES TO SIDE PLATE

8

3/4 X 8 BOLTS

CONV. TO TUBE (BOLT PLATE 

ON BOTTOM)

2

3/8 X 2 1/2 BOLT*Full Thread*
FUEL FILTER TO SIDE PLATE

2

3/4  FLAT WASHER

TUBE TO UNDERTRUSS

18

3/4  LOCK WASHER

18

3/4 HEX NUT

2 1" LOCK WASHER

2 1" HEX NUT

4

3/8" FLANGE NUTS
FUEL FILTER

6

1

3

5

4

2

*RH CONVERSION BOLT PLATE NOT SHOWN*

*

F

R

O

N

T

 

O

F

 

T

R

A

C

T

O

R

*

Side Mount Conv. 
Single or Front Dual Tires 

Massey Ferguson

8727S, 8730S, 8732S, 
8735S, 8737S, 8740S

CONV ID: AMC-MF8700S-21CU-SMSD-CONV

Price List
$5215.00

Limitations may apply.
Please consult API Sales at 

800-288-1117.




